# Division with Partial Quotients Name:

Solve each problem. Answers

1) 2) 3)
3| 31 7| 175 9| 984 .

9 2] 78 5 3|34 % 8| 320 ’

0 9| 190 8 4] 36 9 6| 38

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Division with Partial Quotients Name: Answer Key
Solve each problem. Answers
D 3|31 2 71175 3 9| 984 X 1011
-30 10 -140 20 -900 100 '
1 35 84 ” 25
-35 5 -81 9
—O —3 3 109r3
4 39
. 11r1
6 40
7. 21r1
9 278 % 3|34 % 8| 320
-60 30 -30 10 -320 40 g 9
18 4 0
218 9 31 J 6r2
0 1
) 9190 8 4| 36 9 6|38
-180 20 36 9 .36 6
10 0 2
-9 1
1
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1-9 |89]|78]67[56]44[33[22[11] 0 |




# Division with Partial Quotients Name:

Solve each problem. Answers

39 11r1 109 r3
10r1 40 25 1.

D 331 2 7[175 3 of 984 2

9 278 5 3|34 % 8| 320

M odified 1-6 83]67[50]33]|17] 0 |
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